CpE6110
HomeWork# 2

1)
Apply the heavy node first + communication delay scheme to partition and allocate the subtasks among the processors.
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2)

a)
Compare and contrast unified cache scheme and dedicated cache scheme against each other.

b)
Compare and contrast write through and write back policies against each other.

c)
Compare and contrast associative mapping, direct mapping, and set associative mapping against each other.

3)
Compare and contrast RISC against CISC.

4)

a)
Assume the following program graph and a computational platform of two processors, show that the so called task duplication technique can improve the performance.

b) Now consider the following program graph and two schedules on a three-processor configuration.  As can be noted, task duplication necessarily does not improve the performance.  Assume the same program graph and the same platform, show that task duplication could degrade the performance.

Schedule 1 (few duplications).
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Schedule 2 
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5)
It has been discussed that MIPS is not an accurate measure for comparing performance among computers justify this.  Note, I need a discussion that is straight-forward and clear.
6)

a) Define cache coherence,

b) Within the scope of a uni-processor organization, does the cache coherence issue exist (justify your answer)?

c) If your answer to part (b) is yes, discuss how a write policy (write-back and write-through) will affect cache coherency issue.
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